Initial source code.

< J070188.PUBLIC.COBOLSRCELIB(TSTSHIFT).cbl X

TSTSHIFT.

81 DATAB1
B1 DATAB2

MAIN.
DATAB1 DATAG2

Change with a shorter text.

Rename symbol « DATAO1 » with « D » :

TSTSHIFT.

81 DATA®1

81 DATAB2

MAIN.
DATAB1 DATAB2

TSTSHIFT.

81 D

81 DATAB2

MAIN.
DATAB2

PROBLEMES

Jovo

temp > _D_>

DENT
DENT
DENT




Expected result : no shift if 2 or more blanks on right

= J070188.PUBLIC.COBOL.SRCELIB(TSTSHIFT).cbl ®

TSTSHIFT.

81 D

B1 DATAB2

MAIN.
DATAB2

Change with a longer text.
Rename symbol « DATAOL » with « LONGDATAOL » :

= J070188.PUBLIC.COBOLSRCELIB(TSTSHIFT).cbl X

TSTSHIFT.
81 DATAB1
81 DATAB2

MAIN.
DATAB1 DATABZ

LONGDATA®1

PROBLEMES

Aucun probléme n'a été

TSTSHIFT.
81 |LONGDATA®1
81 DATAB2

MAIN.
LONGDATABL DATAB2

u'3 présent.




Expected result : delete blanks to keep only one and shift to the right until meet a sufficient number of
blanks to no longer shift

= J070188.PUBLIC.COBOLSRCELIB(TSTSHIFT).cbl @

TSTSHIFT.

01 |LONGDATAB1
81 DATAB2

MAIN.
LONGDATABL 'Z]ATAEI2




